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B. Com. EXAMINATION
(For Batch 2013 & Onwards)
(Second Semester)
BUSINESS ENVIRONMENT

' BC-203

Time : Thiree Hours Meximum Marks = 80

Note : Attempt Five questions in all. Q. No. 1 is
compulsory. All questions carry equal marks. ;

1. Answer the following short-answer type
questions :
(1)  Explain SWOT
(i) What are the main challenges Befom 12th
plan ?
(111) ‘Explain various types of trading blocs.

(iv) Give main features of Industrial Policy
~of 1991. _
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(v) Explain main reasons for growth of

multinational corporations.
(vi) What do you mean by UNCTAD ?

(vii) Discuss the tending activities of World
Bank.

(viii) What do you mean by special drawing
rights 7 ... 2x8=16

2. What do you mean by business environment ?
Explain different environmental factors creating

an impact on business. 16

3. Explain the basic features of a capitalist
cconomy. Explain main merits and demerits of

capitalism. 16

4. Explain the objectives of economic planning
in India. Discuss the achievements of economic
planning in our country in the light of these

objectives. 16

Fl

5. Give arguments for the against liberalisation

of Indian Economy. 16
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6. Discuss the features and limitations of monetary
policy of India. Give suggestions to improve

the monetary policy. 16

7. Explain the main provisions of EXIM
policy 2009-2014 and eritically evaluate it. 16

8. Explain the importance and limitations of
' foreign investment in accelerating the process

of economic development in India. 16

9. What is meant by world trade organisation ?
Discuss  its objectives and  important

agreements. 16
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